WEFEEH
Fik2 64 3 A2 8H

¥

w8 R M B @

T2 4 FEEEREFTEOHE

1 #WEOAB

(1) EOHETFHRITHIS LB A

MREFRIR TR 2 L
(2) il A Bl 55 D S A BRI E N2 A

O MBGHHE A~ O TR 25 L

2 HBRFFHIESHE

(BA7 - T
ES g TEBAR A 8l 1IEFA i IERR DFA
— Gt 52, 362, 039 1,284, 371 53,646, 410
3 MWMIEDELHEZE (MIEXFHFEFTLE. OXEMETL)
[ —f&&Et ]
‘ (A&7t (7 & %) (PHREHR)
(1) EOMIETPREICKG L2 B aRE K TR
7 WE/EE ) T BRI R E FrTAVE =5t R R 34, 923FM P18
A W77 983 0 R e 23 2 i = 3 B 8 % 4§ 392,280 H P20
7 Ok Re FEAHE ¥ oK E R 1, 000 P19
(2) ErRIASAT LS D AR EN Y 5 MBGREL & ~ DL V&
O BGRBE A FE N 4 %) B S 856, 168 M P18

e
RENN
REY %Y



[ & [ mxrx—wa |
(1) =7 HAT T
£ Z Z H/NIE Y Y 7 ¢ AT E
= B & KR X — R
BAREEY T (HEHE LY 237 K T/NElY 235F X | BREEiERe ﬁ
LN mﬂ®$ﬁﬁ%@@ikﬁé1A~2A%D&§@$ﬁ)%ﬁ%
L, X a3 2=7 s iRt =4 —%(C ié?@%ﬁt?@%%@ljf\ %%ﬁ
EEBE [T—XOIUEERITI HD,
O JEEANFH], EITHRME, ETREEOER&RNT — 2 ONE
O FIHBEDFIEEZEDO TR T — X OINE %
CIEEN = | /2 ] =2 I
Bt PEd A iR
T o2 B 34923J$§m<f> S NN EIOR N SR
20, 465 14, 458
BE 2 | B |
(1) — A1 Wifir - 11
ENE I JE - 70 58 55500 R it e 2 9 A 23
ElCIE- S E Tk F gy
T BRAFERICBW T, RIESEEENRAS Tl —m@%%@ﬁuﬂi%
BB o L E S D SERG RS S AR 5 . MO
F ISR O ~DOXf IR E LT, Jifigk @wﬁMI$%%%74w&—H@
HEEBRE |KRHREZO#EILELZITY LD,
O  FEfifsk : [HEFH/NAAIKERE, BIRR/NERARERE
CEES I I 12 [ 10/10
Bt BE A iR
392, 280 0
B 2 | B K PRk |
(1) —7 Hifir s 11
= ¥ % ke HE A A
El-IE- Yk R A A
JE VRS R ANVE BT 2 RERIAHE O TVE S 361 i e e (IB0) TR D S
D—EEHTLHHD
EEHRE O HEHE: 10%
FEN = | | 1L I
Bt PEd A iR
E % B Loool BB A WS 4| i | £ o fib | - MR
1,000




186 ‘67G ‘9T 8¢T ‘2¢ 21¢ ‘689 ‘C VLT ‘189 ‘G €F8 ‘LTS ‘91 g g
128 ‘798 6 6 0 218 F¥8 g
000 ‘021 0 0 0 000 ‘02T 9TH THNBHFINL | =
¥SL ‘96T 0 0 0 7SL 96T 9TH THNETHLN
690 ‘GTT L L 0 290 ‘G11 9TH THNBTEYELTH| B
008 ‘2§ 0 0 0 008 ‘2§ 9TH SHNEGEY G EE W
618 ‘%9 4 4 0 L18 ‘%9 9TH TFFEVEEE| BH
000 ‘z1 0 0 0 000 21 9TH THMNETEEE YA —L RS EHHEY
096 ‘52 0 0 0 096 ‘65 9TH T D B3 B R ] | B
62V ‘092 0 0 0 62¥ ‘092 9TH T
09T ‘602 ‘ST 621 ‘z¢ €0€ ‘689 ‘Z VLT ‘169 ‘G 1€0 ‘€L9 ST J2
€6. ‘859 7E6 07T 7E6 ‘07T 0 658 ‘LTS = NG i}
789 ‘622 20 ‘e¥ AN 0 8¢ ‘961 9TH TEHUGBNHREYL S
050 ‘002 08 09 0 000 ‘003 9TH THERKERHEE| K | &
650 ‘612 8¢S ‘L6 78S ‘L6 0 LLV 131 9TH TP EY — £ AWK Y | $
L9€ ‘9%0 ‘ST 608 ‘80T V 69¢ ‘GFS ‘T VLT 1S9 ‘G ZL1 ‘GST ‘ST = NG
GT€ ‘203 i S 0 192 ‘202 9TH SHEHWH - E
€S ‘ST 0 8 8 266 ‘ST 9TH SHEHNES| 1o
0 116 ‘65 V 0 116 ‘6S 116 ‘65 9TH THEFHEE PR YW ]
€0T ‘€S 186 ‘72 V 61 000 ‘S 780 ‘8. 9TH SHITH TN H o
96V ‘€11 766 V1 ¥50 V¥ 001 ‘62 avs ‘86 zeH GH N
0L¥ ‘60T 62T 621 0 7€ ‘60T 9TH TN R g
122 ‘GT1 v6L 01 0¢ 728 ‘01 610 ‘92T 9TH LH(ERRG 0
9.5 ‘061 12€ ‘892 162 729 ‘892 €06 ‘8G¥ 9TH LK LW — 4 2 2 Famy T B ARG -
GT10 ‘ege 086 ‘9 621 60T ‘L G66 ‘63€ €2H S AF (DT el EY
126 ‘503 126 ‘503 126 “G0¢ 0 0 veH THFY— L TNV
0 870 v V Z 050 ¥ 8%0 ¥ geH N8 S A S RAPIEAE S
12L ‘629 63F ‘e V TLT ‘811 009 ‘TLT 0ST ‘€89 ¢CH SHEHITHEYWE Y| ™ | £
€06 ‘VEY ‘G 061 ‘825 V 018 ‘T 000 ‘0 €60 ‘€96 ‘Z 9TH S EE
760 ‘€59 ‘01 162 929 GYL 1L ‘T 8%6 ‘V¥S ‘1 162 ‘920 ‘01 9TH &5 b oo
(d+V) a(a—-0)EME| (0) TTH (8) BY#® | (v) =ng |xs
Z L) (V'Y) 25y = > =%z & S|

YEH b 2 WA VYRS DES v 2 Wk ¥HFE Wk |BE

(H+ - ™) (BT (He) DeEFHTV clk) UYOTEE TV el L

(% &

]




